100 ' |
/l | )
30 : : l .
\ | ‘ %Ih\f\w.(:&) (—)—3— == O 08 t\ow,)
| 3
| : ; Gm\r\u‘k’/‘ =C .|\ l\owA
0 : : ( q S j/ P o (Y\/\,QLV,
| ! : — m\\rwtf:x )
J e il
\ﬂi& Qe%’r M-Tmnj( Culoqwoxv mwtwm 1o e at
Ak S
/\\f"**/(av 000+ R0 = 00+ 100 x O,08
\Oo[ = T : .
20 | —_— = (0 <m
‘ R S |

20 |

Ll el
0 OO0 | OW

g OO0 U0



/\\M@/H - Iomn{— };l\mx,mﬂv‘am %

’ KO0~ 0.05 + OO =005 + [40 <00y~

‘4 - ke

6\

l
0 0.0 0. 018

ooF O0r 00

\e\ﬂ W OlA/)\—D\MCA ML
S“HML AL &(*f’%k 3 'tthi%m{

005 X (u+2°) o.orx(80+100) . o,or((owuo)

———

¥ i o T

\

__\

mok ek we mvw%’r’% L&x~\i&i4}

005 x X_L g0+ RoH 0 Mﬂ 12 K




9k /ze



Tt:uz bt ead qqnf A
, jQ "— ’wfmlnt 0\7&/‘/‘%)(
ol 376 r o




il 0 e
/chl’f“f/&/) Lo <

a5 (1) 027 (06e) +o.25 (08e) +oar(ouy
0,28 ‘

O 139 Hus b oan outa C/)‘l“‘»max\}:

— ——————
— -
e



! X [ P(’Q:J(-X”

025 ©.9682
0.5 0.8660

| 0% 0.6614
) e |
s | O

)

02y

\/\Luu o AL P4 05% 4 ch—myop(/)

L‘\T&CS—( (OW oo g2y = %9 :2}’. LS

0.2% (0.%82) + o.z;‘(o.&ééo)-r 0.2;‘(0.6414) -+o,2r(9/)

O, 6234 e\*&,{; Y. et o /\,W_J,u g R

C——

Qo!
50129 & -;9 < 0,832

e 408130= 3.495¢
(i A ' S
2.141549.- 2

04456 = 4+ 06239 < |
S 1’\

\



